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| GENERAL INSTRUCTIONS 70 THEEXBMINEES :
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\ (1) whemeff wedem {5 Y it e |
OoF?
"11 Candidate must write first his / her Roll No. on the question paper compulsorily.
; ) woft v HE AEE R |
| All the questions are compulsory.
f§|\ 3) uft st e e & IRt H € ferd |
h__ Write the answer to all questions in the given answer-book only.
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For questions having more than one part, the answers to those parts are to be written

together in continuity.

Y- % fedl & U T § foneft webw B fe / ot/ R @1 w i v % I

Nl
-

=i & HE A |

If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid. -

'mww%@ﬁﬂqﬁmmmm%@l

(6)
A Write down the serial number of the question before attempting it.
(7) eI 1 37 W FrEmEm R ) * % é-::"-

Weightage of marks for the question'is af’k OWS.

- o g 1 37 W
wE-3 (A) | 1 (10 x),hfi; V20 3 20
s ®) | | aﬁﬂs TINY ! 2 8
TUE- (C) ) 49 0 o 3 12
@rE-% (D) 20 to 21 - 2 4 8
wus-A (E) 22t023 2 4 8

(8) AT 16 ¥ 23 H e famheu € |
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There are internal choices in Question Nos. 16 to 23.
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SECTION - A
1. wgfaened T (i ¥ x) & FE foshed o1 ==e ot 3t < 18 3o gfesen | fafag |
Choose the correct answer from multiple choice questions (i to x) and write in given
;  answer book. -
(i) U= I8 % I 0’ e Toye € | 9 98 @ fria gt e wore &1 A B
ngq 9
Gl @ =
g
®) e @ =
There are ‘n’ electric dipole situated. inside a closed surface. The value of net
electric flux leaving from the closed sulﬁack\ﬁﬂl be 1
.U | \'S i
(A) &o (B)-. =N
© feLo ' g o
(ii) ferege ae =t 1 A g’l ,
(31) =T . (%) diwe
(@) 3 (8) TR
Unit of electro motive force is 1
(A) newton (B) wolt
(C) ohm ; (D) ampere
(iii) eTCrETd § ek faaiY o e sTevaes 9w i weEd 8
() " T _ (&) aeear gatedl
(W) cHr (8) uferd oTTeh
The current required for unit deflection in galvanometer is called 1
(A)' current sensitivity (B) voltage sensitivity
(C) figure of merit (D) reduction factor
§S-40-Phy. | Turn over
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(iv) Frefeafia & qed s w9 o e veref 2 -

(37) <irer (@) fiemer
(d) whiETee : () Teiferfem
In the following, the substance whose Curie temperature is highest :
(A) Iron - (B) Nickel
(C) Cobalt (D) Gadolinium
(v) srearardt em afee 8 or o v qrer g w424 2 | e fret wm am
(30 24 (@ 1A
(") 05A (7) I
The root mean square current in AC circuit is \[2 A. Its peak value will be
(A) 2A ’ (B) lA
(C) 05A (D) "% é .
(vi) a&waﬁaﬁﬁmﬁmaﬁa WW(M)“”E"@‘"
() 1+F g\
D b " L3 L { f
If image formed ‘;-,'5’1 iplesrh ! ;" then formula for its magnifying
power (M) will be . ® s
(A) 142
© 2 ‘
(vii) ®IRH % T o7 97
h
a —
(. ) hv (a) 7\.
hi ' '
() 2 L
The formula of momentum for a photon is
(A) hv . h
, ®B) %
C) 3
(C) ¢ | D) o
§S-40-Phy.

Previous Pathshala




5

(viii)m@m@m%wﬁpﬁmﬁw@aﬁaﬁﬁaﬁﬁ%

Previous Pathshala

(1) wEEA (9) =T
@ g (g) oM
The series found in the ultra-violet region of H-spectrﬁm is 1
G (A) Lyman (B) Balmer
' (C) Pfund - (D) Paschen

(ix) ;iﬁé?%%qmuaﬁqguﬁaﬁ ‘o UF B H Ty R
(3) p=a(l-o) @) a=p(l+a)
(®) Bp=oa(l+a) (@ o=p(l-w
The relation between current amplification factors ‘¢’ and ‘B’ for a transistor is 1
(A) B=a(l-o) ®) o =B &E*“%)
€) B=a(l+o) (D) fa=pi(1 —e) -
(@) 45° pt LS
In electromagnetic waves, the value ‘of angle between electric field (E) and
magnetic field (B)is || | 1
(A) 180° B) 90° |
(C) 45 | (D) 0°

e At 3 e e ifa | ST ¢ (S Ui 2 9 8 T)

Give the answer of the following questions in one line : (Q.No.2to 8)

) Foseh faeq 3w 3 e e 9 ot |
Draw a diagram of equipotential surface for a point charge. - 1
§S-40-Phy. [ Turn over
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3. WA S =i giery i uftamr fafeg |

Write the definition of internal resistance of a cell. 1

| 4, Y- % IS ¢ JTEEl % AW ffu |

Write name of any two elements of Earth’s magnetism.’ S |

5. eie-gehia 9qre & foTe e w3 (B-H 7) wrgw |

| - Draw hysteresis curve (B-H curve) for a ferromagnetic substarice. 1

6. ﬁamﬁmm'iﬁmvﬁr%mm-aﬂmg 2

On conservation of which physical Clllantity;}fﬁgfénz’s law is based ? 1

What are coherent sources 2 1
APy R
. oy |
8. Higed =i yftafy Hifse ¢
& e -
\ {? 5, 'ﬁi' : .
Define modulatg#‘ ' ‘ . | 1
few: TEEEH9Y 11 % I, waﬁwﬁ%ﬁm I
Note : Write answers of question nos. 9 to 11 in answgr book.
o, fomelt =ITeTh Ay F efen 2 wF # | afe 3@ foelt ame A W@ T, @ e 1o uF B St 2
q1ead 1 WSS g}m |
e
The capacitance of conductor in axr is 2 pF. If it placed in a medlum then its capacitance
pecomes 12 UF. The dielectric constant of medium will be . .

SS-40-PhY-
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10. Ma@ﬁmﬁamﬁmﬁa@hﬁmnﬁﬁmz.z eV 2 | Frieht fonre w1 9m

12.

13.

14.

15:

volt ‘@TIT |

The maximum Kinetic energy of an emitted photo electron by a metal is 2.2 eV. The

value of stopping potential will be volt. 1

Ttz (NOT) ER ! Wi FeEd & |
NOT gate is also called . ' 1

@ s -9
| - SECTION - B .
e TR ZEER 220 V 1 2200 V # wiafia s 2 | 2 seeht fidtas goseht 3 % 6
@& 1000 &, ﬁmg@ﬁﬁﬁﬁmmﬁﬁn |
A transformer steps up 220 V to 2200 V. ffaumber of turns in secondary coil is 1000,
then calculate the number of turns in primary coil: ‘ 2

ST~ fore T L & ¢ m—? e ¥

A | @?

What is photoelectric effect 2 Draw a _graph-bétween phetoelectric current and intensity
of incident light. 1+1=2

frmiferf o) henfa BN
(31) Trfirehre faueA
(@) iR derd

Define the following :
(A) Nuclear fission ‘
(B) NUClear fUSiOn ; 1+1=2

ey i et s g8 (4) & R 6t F= (h) T e i | sisromit
ST |

Obtain rel
wave propagation. Draw necessa

ation between iransmission distance (d) and height of antenna (h) for space
ry diagram. 1%+14=2

[ Turm over
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SECTION - C
16. =EewH WG 1 ArHi(ha o7 TR frmars & fremi & st ggfera stawn =1 wfewy s
HiY |
Draw labelled diagram of Wheatstone Bridge and obtain its condition of balance by
Kirchhoff’s laws. 2+1=3,,
AYET/OR
et &g R et SrTa Sy =61 #19 Fq e 1 fafy fefaw | srevass g sgeaw Hif,
gftgy fo s=13U |
Write the method to determine the value of an unknown resistance by meter bridge. |

Derive necessary formula, draw circuit diagram. 1+1+1=3
17. L e Y v e T e gehr 4605 6 e % e O Frerw w3 o) &
qUiH @ 2 | B % AW % we yia R g sees =isss wiw Hifse | sraves R

§q13¢ | y
A conducting rod of length, 'L’ is“ rotatifig-with conmstant angular velocity ‘e,

perpendicular to uniformt magnetic ;@fﬁ’ tham an_expression of induced EMF

between its ends. Draw necessary-dia 24+1=3
P Gern JOR | S

\ } At

(37) SreeTaret ey iftaer 8 SAGAIWE BT SR STH BN |

(a) LCRitvﬁtrF{qaﬁ{_.,-. w%mﬁaﬁﬁ!%m%maﬁaml

(A) Obtain an expression of average power in°AC circuit.

(B) Draw a curve for showing warlation in alternating current with frequency in LCR
series CII'Clllt 2+1_3

18, (1) i@ Ewr sy afya Hif |
() Wﬁwﬁwmmﬁamw%mwm“@ 2 s :
efere13l o1 1T s shif | s

(A) Define power of lens,
B) 1 f ratio of the amplitudes of the two light waves is 43 j
the ratio of the maximum to minimum intensities,
IYET/OR

n mterference, then calculate
1+2=3

5S-40-Phy-
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(31) ferdtem & =61 aftfi T |

(%) @@ﬁ?ﬁﬂqaﬁ%mﬁgﬁ%ﬁtaﬁﬁﬂﬁaﬁmﬁm 4D ws 24D ¥ | AR
S PR S € a8 dt g Y S SHaT T HIfr | :

(A) Define resolving power.

(B) The power of objective and €ye

astronomical telescope. If final image
magnifying power of telescope.

19, m@m@mﬁwwﬁwmmmmm | 7% S e 8§ W
Bt 2 7 (frgant fraais R = 1.097 X 10"m™")

imum wavelength of Paschen series in H-spectrum. In which
Rydberg constant R = 1.097 x 10’m™) 2+1=3

FUAT/OR

O kgl mewm

T
;.:s? 0 |
Eﬁﬁm ' > 3 W? 'nimum wavelength of Balmer series
Calculate the ratio of maxim @ , 3

in H-spectrum. .

-piece are 4D and 24D respectively in an
formed at infinity then calculate the
1+2=3

Calculate the value of min
- . . r)
region these lines found in spectrumm * (

@ -4
SEC‘TION-—D
; mﬁW]@ﬁﬁﬁmmmméﬁﬁewm°<e<goo)
Wity <1 o TR '

i3 ¥ for @y HINT | s Ry
STl B 91
quwﬁm?%lw% |

THIRY | thematical form. A charged particle is in motion, making ap
ma | ¢ field. Obtain the formula for its time petiod

form magncti
1+1+1 +1=4

20,

Write Ampere’s 1aW 3 +h uni
angle 6 (0° <0 < 90°) Wlthdlilzrlgram.
and pitch, Draw necessary © ra/OR
i fofae | foeh T RIS FUSER  re e R faey

Erl‘q}maéﬁﬂﬂ'qﬂﬁ;“ mlmﬁﬁml
ﬁi_m qrah a7 " gavart’s LaW in vector fot:m. Dt:-:rive the formula of Magnet;
Write the formula of Bi© s for @ current carrying circular coil. Draw neces N

; : Sary

- )

: a

field at any point o7 )
. diagl’am. . 1+2'*‘1=-:4
S-40
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21. (1) FASEH ST R =TT, FeTeTh Ta Ao 1 a7t Tqw ST |
(%) P-N Hft STs 1 AfenaAfoss o5 Fm3u |

(A) Distinguish clearly between conductor, insulator and semiconductor on the basis of

energy band theory.
(B) Draw chai'acteristic curve of P-N junction diode. 1+1+1+1=4
FET/OR | »

Syt IR =" 4 PNP Zifret &1 stfiremafies a5 wig o 3 fore afwy o= smmu |

fonfar arfiremerfores a5k ST, SHeRT TWEITST |

Draw circuit diagram for a PNP transistor to obtain characteristic curves in common base
configuration. Draw output characteristic curve and explain. 1+1+2=4

s — 7
SECTION -E

22, st ford s 2 g <hifor fon &) e »
ﬂ%ﬁwﬁmmwﬂﬁﬂmﬁ%
AT | | : "JF“*

‘.@mm%mmﬁmﬁgéﬁ
%Wwﬁ A ® | v

:‘{i

What is a capacitor ? Prove that.if w{c; gcharged conductors conneeted by a conducting -
_wu‘e of negligible capacity th%?ﬁ ratio_of .change in their potential is mversely
proportional to ratio of their f 8 a‘clues. Draw necessary diagram. 1+2+1=4
i JUET/OR

feom st # e o fram fofee | w8 Fram | o wwey safia sfiia stes ufgew
Fro 5% Tree fedt famg = T & R faa &1 =ives sgem A | smEves iy
F413C |

gtate Gauss’ law in electrostatic. Using this law derive an expression for intensity of

electric field at any point near to a uniformly charged infinite conducting plate. Draw

necessary diagram.

A

1+2+1=4
IuST/OR

-Phy-
‘3_,40 Phy
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ﬁgﬂéﬁﬁ?ﬁm@qﬁmﬁﬁaﬁﬁq |ﬁgﬂ%ga%wa&ﬂai@m%ﬁ%@ﬁﬁgm
ferera &= &t <freran =1 3 wie hifste | sevass 9 e |

Define intensity of electric field. Obtain the formula for the intensity of electric field at a
point on the axial line due to the electric dipole. Draw necessary diagram. 1+2+1=4

23, T ¥ s & R i O s i RARET | A R s § sty Bt <6
<t FTa T o1 G T HIRAY | STTEvEes o s |

- Write any two necessary conditions for interference.of light. Obtain the formula for

fringe width in Young’s double slit experiment. Draw necessary diagram. ) 1+2+1=4 |
' YT/ OR

active index of prism

1+3=4

T/ OR
rerer 1 ferada fRA FEA B 7 FTETE % A RIgT 3 FTUR T Y61 ST Hemi st smen
ﬁﬁmlanamw%iml.

ction of light ? Explain laws of refraction of light on the basis of Huygens

What is diffra ——

wave theory. Draw necessary ray diagram.

Previous Pathshala






